CC oS
A L

A=0
Jt2, M=, A

—————

ii.
5
4
L
o
§id
S
.
= "‘::Z_'-
o
. B
Jr s
# L ERT o
& B |:I i t‘l
e e
. _' ] - rrl_-"""!"'.,ﬁ,""i | ERSm T -
bl i fln o iy FU ARG B e
R RS KTRE | pm 1 4 1 g Ll S
-_— . - . d T
-
L

o |8

L

-
ArL

L

BOBDDEn0
Sl nmw

la[=[aln]







&

> k.-‘y) )) N/
“V T

'IJ

doy, e




== 0|0p/




S
A

N Htgrtlor K12 K1z,

Z

=l

glt
2B
MHr
ol
©
u{m
MH
i

il
|
Off

A=0|2F §=0], Oftit

.
Zte RHio| £ 1218 H CHE 22 0fF 20| %o}

Wl




== 0|0p/

5 ZHL|2F ZOHX|7F S FA= 0|0 |& =2 7| EMH7F 2= =82 Xt s
A=0|2t 6§=0|2] 250|0|R. RX|H| M ZokA|R.




s

Mmﬂm __um_._m.; 'mﬂ >
e i ;
= O
|
720|2} 0{ 20|L| ZOIL{X] L O S0|= A|RSI T HS0|= THES 5120]0)|R. Sa|Llat TRO| Lh WAIOl @ 20| EXI0| Tt 0| SIEt0[5HM L. -
720 CIES 0|9 LE2 £0} HS XYY YRoj, I Y 25 FHS %
b, MZ, o2 wEoE Stof Sa2t0|sty 2. —
-
(O
. -
i -
S e -
u...\\n .

Al 2 £ 7] o = 0f
@)

= | i
£ 1 2 H} = L O & %

CHH — OH = = MF A
= al =) A = T (- _I_ m
. O

H - =

A~ F g # s = H =
— - = - N
or | £ 5 &9 "HN 51| 2F \ & :W,.

CC C. A
of o = ¥ o = I & —— S
THE tew dHg °Z -
Ot = - O L ,_ | .
E m = [e) T m_._ .l = Wy
N : 1 1 (O
A 2 M = i A 2] -
«p)
L
O
O

N . \.
OFZ0|0] 2 AT U= ELIRE ZESIH| HatM B 5 & UH £ WA AR StoHH |7} OFZ0|0f 22 RIRIS THe T 2o N\ W &7 2 55 mopEN S, 7420|2} 6{20|, OHH7 T £HO|E B STED SAIRNS U= HT0[0)R,

22 dHe F afS B L X2 HF T4 %ot 32[0[5HA| 2.

O
D
.
<

©

@
-

—
—
-
)
-
Q
=
(O
—
O

O

O




	전통문화7_1
	전통문화7_2
	전통문화7_3_1
	전통문화7_3_2
	전통문화7_4
	전통문화7_5
	해답_7



